
Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1. 539 + 112 =

2. 514 × 1 611 =

3. 517 × 1 920 =

4. 536 − 21017 =

5. 137 × 526 =

6. 41214 ÷ 557 =

7. 41317 ÷ 513 =

8. 512 − 213 =

9. 524 ÷ 51416 =

10. 513 − 268 =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 539 + 112 = 48
9 + 3

2 = 96
18 +

27
18 = 123

18 = 41
6 = 656

2. 514 × 1 611 = 21
4 × 17

11 = 357
44 = 8 544

3. 517 × 1 920 = 36
7 × 29

20 = 1044
140 = 261

35 = 71635

4. 536 − 21017 = 33
6 − 44

17 = 561
102 −

264
102 = 297

102 = 99
34 = 23134

5. 137 × 526 = 10
7 × 32

6 = 320
42 = 160

21 = 71321

6. 41214 ÷ 557 = 68
14 ÷

40
7 = 68

14 ×
7
40 = 476

560 = 17
20

7. 41317 ÷ 513 = 81
17 ÷

16
3 = 81

17 ×
3
16 = 243

272

8. 512 − 213 = 11
2 − 7

3 = 33
6 − 14

6 = 19
6 = 316

9. 524 ÷ 51416 = 22
4 ÷ 94

16 = 22
4 × 16

94 = 352
376 = 44

47

10. 513 − 268 = 16
3 − 22

8 = 128
24 − 66

24 = 62
24 = 31

12 = 2 712
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